
905101 (805/874) BENCH SUPPORT KIT INSTRUCTIONS

RIGHT PAD SUPPORT

BACK PAD

_2,FT PAD SUPPORT

PIN

01/04/95 6,1.990



905101 (805/874) BENCH SUPPORT KIT INSTRUCTIONS

NOTE IF YOU ARE ASSEMBLING YOUR BENCH FOR THE FIRST TIME PLEASE DISREGARD THIS
STEP. Disassemble The BACK PAD from the SLIDE MOUNT and the HINGE TABS. Discard the two HINGE
TABS. (THE HARDWARE WILL BE USED AGAIN, DO NOT DISCARD)

Slide the LEFT AND RIGHT PAD SUPPORTS onto the PIN as shown on drawing.

Loosely assemble the BACK PAD to the bolt hole near the hinge of the LEFT and RIGHT PAD SUPPORTS
using two(2) 3/8 x I-1/4 IN. BOLTS, two (2) 3/8 IN. LOCK WASHERS, and two (2) 3/8 IN. WASHERS.

Loosely assemble the SLIDE MOUNT to the bolt holes near the end of the LEFT and RIGHT PAD SUPPORTS
using two(2) 3/8 x I-I/4 IN. BOLTS, two (2) 3/8 IN. LOCK WASHERS, and two (2) 3/8 IN. WASHERS.

SECURELY tighten all bolts. NOTE: If any other holes on your BACK PAD and PAD SUPPORTS match you
may install additional bolts if you wish.

01/04/95 64990


